Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Summer Examination-2019

Subject Name: Basic Electronics Engineering
Subject Code: 2TE02BEE1 Branch: Diploma (All)

Semester: 2 Date : 29/04/2019 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)
How many electrons are there in the valance orbit of a silicon atom within a
a) crystal?
(A4 (B)1
(©)8 (D) 14
Which one of the material contains highest energy gap between valence band and
b) conduction band?
(A)Conductor (B) Semiconductor
(C)Insulator (D) None of above
Which type of impurity is added in intrinsic semiconductor to form an n-type
0 semiconductor?
(A) Pantavalent (B) Trivalent
(C) Both can be added (D) None of above
If the supply frequency is 50 Hz, what is the output frequency of a half wave rectifier?
d) (A)50Hz (B)100 Hz
(C) 10 Hz (D) 25 Hz
In bridge rectifier ........ diodes are used
e) (A) Two (B) Three
(C) Four (D) Five
Which components oppose the flow of current?
f)  (A) Inductor (B) Capacitor
(C) Resistor (D)Transistor
Transistor has ...... no of terminals
g) (A) Two (B) Three
(C) Four (D) Five
A Fuse is operates on .......
h) (A) Power (B)Voltage
(C)Frequency (D)Current
Ripple factor of full wave rectifier is ...... ?
i) (A)l21 (B) 0.48
(C)0.121 (D)4.8
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Characteristic of switch can be defined as.......

(A) Operating Time (B) Bounce Time
(C)Release Time (D) All of above
Which component is not a passive component?

(A) Diode (B)Resistor
(C)Capacitor (D) Inductor

In colour band method, Gold colour having ....... Tolerance

(A)5% (B) 10%

(C)15% (D)20%

Variable resistor has ....... Terminals

(A) 2 (B)3

(&)1 (D) 4

Full form of BJT is.......

(A) Bi Junction Transistor
(C) Bit Junction Transistor

(B)Bi Junction Terminal
(D)Bit Junction Terminal

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-5

Q-6

Q-7

Q-8

w >

w >

09)

Attempt all questions

Define: Resistor. Explain classification of resistor in detail.

What is capacitor? Give types of fixed capacitor and explain any one with
appropriate figure.

Attempt all questions
Draw and explain different switching action with its symbol (any seven)
Write down characteristic of relay. Draw and explain electromagnetic relay.

Attempt all questions

Explain conductor, semiconductor and insulator with energy band diagram.
What is trivalent and pentavalent element? Explain P type semiconductor with
figure.

Attempt all questions

Draw block diagram of rectifier. Give types of rectifier and explain full wave
rectifier with its wave form.

What is filter? Write down types of filter. Explain any one filter with figure.

Attempt all questions
Derive relation between ag. and By,
Which are types of transistor? Draw symbol of it. Explain working of transistor.

Attempt all questions

Write down desirable characteristic of fuse element. Write down types of fuse
and explain any one fuse in detail.

What is co-axial cable. Give types and application of co-axial cable.

Attempt all questions

Explain PN junction diode as a forward bias and reverse bias wth its

characteristic.
Define

(14)
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Q-1

b)

d)

f)

9)

a) Drift current

b) Diffused current

Find out value of resistor using colour code table. 3
a) Red,Red,Orange, Silver

b) Blue, Gray, Yellow, Golden
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